DUR@NIL

Creative Consumer Products

TVB420 TV Bracket

PLEASE READ ALL THE INSTRUCTIONS BEFORE USE

®©® 0 © 06 O

duronic.com duronic (@duronicmedia Duronic (@duronicmedia




DUR@NIC



DUR@NIC

Contents

English Manual

Manuel d’utilisation en francais

Gebrauchsanleitung auf Deutsch

Manual de Instrucciones en Espafiol

Manuale D’istruzioni In Italiano

1

17

23

29



DUR@NIC



DUR@NIC

English Manual




DUR@NIC

Installation Instructions

Tilt: -15° +9° Rotate: 360°  Swivel: 180°

Hardware Kit

a. Wood Screw x 4 b. Concrete Anchor x 4
."-‘ -
— —
d. M5 x 15 Screw x 4 e. M6 X 15 Screw x 4
g. M6 Flat Washer x 8 h. M6 Nut x 8

plates.

] —
c. M4 X 12 Screw x 4

i

f. M8 x 15 Screw x 4

1. If the mounting holes are spaced
400x400mm apart, use the adaptor

2. Use the wall plate as a template to
"y drill four holes of M10 diameter and

%
%

50mm depth in the concrete wall or
“;/fi the hard wood wall. Then wedge four
plastic concrete anchors into the holes.



DUR@NIC

\?y 3. Put the wall panel on the wall, and
then screw the four wood screws
into the plastic concrete anchors.

4. Install TV fixed plate on the TV
back. Screw four bolts into the holes

in the back of the TV, and the bolts
should be selected as the dimension of
the bolt-hole.

Note:

1. Choose the right place to install wall plate. The bracket must be installed on
solid concrete wall. Make sure the wall can support 300kg weights up.

2. Users should check and maintain the product frequently according to the
use status to ensure the flat panel TV works normally, safely and securely.
Please wipe joining parts with a dry cloth frequently. Don’t use it in rain or in
moist environment.

Please check once two months if all bolts are secure or not.



DUR@NIC
Warranty

1 Year Guarantee from Shine-Mart Ltd, Trademark owners of Duronic Products.
NOTE: THESE STATEMENTS DO NOT AFFECT YOUR STATUTORY RIGHTS AS A
CONSUMER

This product has been manufactured under the strictest or quality control procedures, and
using the highest quality of materials, to ensure excellent performance and reliability. It will
give very good and long lasting service, provided it is properly used and maintained. The
product is guaranteed for 1 years from the date of original purchase. If any defect arises due
to a faulty materials or poor workmanship, the faulty product must be returned to the original
place of purchase. Refund or replacement is at the discretion of that company.

Duronic Products are offered with a 1 year guarantee under the following conditions:

1. The product must be returned to the retailer with original proof of purchase.

2. The product must be installed and used in accordance with the instructions contained in
this operating manual.

3. It must be used only for domestic purposes.

4. 1t does not cover wear and tear, malicious damage, misuse, neglect, inexpert repairs or
consumable parts.

5. Shine-Mart Ltd has no responsibilities for accidental or consequential loss or damage.

6. Shine-Mart Ltd are not liable to carry out any type of servicing work, under the guarantee
7. Valid in the UK only

Ef Imported by Shine-Mart Ltd, RM3 8SB c €
|

Follow Us

®©® 0 © 06 O

duronic.com duronic (@duronicmedia Duronic @duronicmedia



DUR@NIC



DUR@NIC

10



DUR@NIC

Manuel d’utilisation en francais

11




DUR@NIC

Instructions d’utilisation

Ce support permet une inclinaison de -15° a 9°, une rotation a 360° et offre la
possibilité de faire pivoter I'écran a 180°.

Matériel fourni :

a. Vis a bois (x4) b. Vis d’ancrage (x4) c. Vis M4 x 12 (x4)
A . dl
— I— ]
d. Vis M5 x 15 (x4) e. Vis M6 x 15 (x4) f. Vis M8 x 15 (x4)
g. Rondelles pour h. Boulons pour vis
vis M6 (x8) M6 (x8)

1. Si votre écran requiert une fixation VESA
400 (400 x 400), veuillez utiliser les
adaptateurs inclus.

2. Utilisez la plaque murale pour déterminer
" I'emplacement des trous a percer. Percez
votre mur en utilisant une méche M10 sur
une profondeur d’environ 50 mm. Placez
ensuite les vis d’ancrage.

%

e

AY
Vi

12



DUR@NIC

3. Placez le support mural sur le mur puis
vissez-le a la plaque murale.

4. Installez la fixation TV sur le support
mural puis vissez votre écran sur le
support en utilisant les vis, les
rondelles et les boulons fournis.

Note:

1. Veuillez choisir 'emplacement du support judicieusement afin d’éviter de
devoir répéter le processus d’installation du support. Assurez-vous que le mur
choisi puisse supporter le support et I'écran a monter.

2. L'utilisateur devrait s’assurer que le support fonctionne de maniére optimale et

que 'appareil reste propre en utilisant un tissu doux et sec. N'utilisez pas ce
support sous la pluie ou dans un environnement humide.

Veuillez vérifier tous les deux fois que toutes les vis sont correctement serrées.

13



DUR@NIE
Garantie

Garantie et service aprés-vente

1 an de garantie de la part de Shine-Mart Ltd, propriétaire de la marque Duronic.

NOTE : CES DECLARATIONS N’AFFECTENT EN RIEN VOTRE DROIT STATUTAIRE EN
TANT QUE CONSOMMATEUR

Ce produit a été produit en suivant les procédures de contrdle de qualité les plus strictes en
utilisant des matériaux de qualité pour assurer une excellente durabilité et performance. Cet
appareil vous offrira de longues années de service tant que vous utilisez correctement cette
machine et suivez les instructions de maintenance contenues dans ce manuel. Ce produit est
garanti pour 1 an a partir de la date originelle d’achat. Si ce produit était endommagée en
raison d’un probléme électrique ou d’une fabrication imparfaite,

le produit défectueux peut étre remplacé au vendeur a la discrétion de la marque sous
conditions:

1. Le produit doit étre retourné avec la preuve originale d’achat.

2. Le produit doit étre installé et utilisé en accord avec les instructions contenues dans ce
manuel d’utilisation.

3. Le produit doit étre réservé a un usage privé.

4. La garantie ne protége pas contre les dommages dus a l'usure normale, I'utilisation
malveillante, la mauvaise utilisation, la négligence, les réparations conduites par des
non-experts ainsi que les piéces consommables.

5. Shine-Mart Ltd ne porte pas de responsabilité pour tout dommage ou perte accidentel ou
conséquent causé par ce produit.

6. Shine-Mart Ltd se dégage de toute responsabilité en matiere de réparation durant la
période de garantie.

7. Valide dans toute I'Union Européenne.

E Importé par Shine-Mart Ltd, RM3 8SB. C €
_—

Suivez-nous sur

®@ © 0 O

www.duronic.com @duronic_france Duronic France @Duronic_France

14



DUR@NIC

15



DUR@NIC

16



DUR@NIC

Gebrauchsanleitung auf Deutsch

17




DUR@NIC

Installation Instructions

Neigbar: -15° +9° Schwenkbar: 360° Rotierbar: 180°

Bauteile
a. Holzschraube x 4 b. Betonanker x 4 c. M4 X 12 Schraube x 4

U — — ]

d. M5 x 15 Schraube x 4 e. M6 X 15 Schraube x4 f. M8 x 15 Schraube x 4

© <)

g. M6 Unterlegscheibe x 8  h. M6 Mutter x 8

1. Benutzen Sie die Verbindungsplatten,
sollten die Befestigungslocher mehr

als 400x400mm voneinander

entfernt sein

2. Benutzen Sie die Wallplatte als
3 Schablone um vier Locher mit dem
M10-Diameter und 50mm Tiefe in eine
“;’fi Betonwand oder Hartholzwand zu
bohren. Driicken Sie daraufhin die vier
Plastikbetonanker in die Locher.

%
%

18



DUR@NIC

3. Halten Sie die Wandhalterung gegen
die Wand und schrauben daraufhin
die vier Holzschrauben in die
Plastikbetonanker

4. Befestigen Sie die TV-Platte auf der
Rickseite Ihres Fernsehers und
befestigen Sie diese mit den vier
Schrauben, achten Sie darauf die
passende Schraubengrofie
auszuwahlen.

Hinweis:

1. Wahlen Sie eine geeignete Wand fur die Installation aus. Die Halterung muss
an einer soliden Betonwand installiert werden. Stellen Sie sicher, dass die Wand
das gewiinschte Gewichte tragen kann.

2. Benutzer sollten die Ware regelmaRig Uberprifen und in Stand halten, um
sicherzustellen, dass das Produkt normal, sicher und geschutzt funktioniert.
Reinigen Sie die Verbindungen regelmafig mit einem trockenen Lappen.
Benutzen Sie dieses Produkt nicht in feuchten Umgebungen.

Bitte Uberprifen Sie alle zwei Monate einmal, dass alle Schrauben fest sitzen.

19



DUR@NIC

Gewahrleistung

1 Jahr Gewaéhrleistung von Shine-Mart Ltd, der Markeninhaber von Duronic Produkte.

ZUR BEACHTUNG : DIESE BEDINGUNGEN HABEN KEINE BEEINFLUSSUNG AUF IHRE
GESETZLICHE RECHTE ALS VERBRAUCHER

Dieses Produkt wurde unter strengen Qualitatskontrollen hergestellt, und wurde aus
hochwertigen Werkstoffen produziert, um ausgezeichnete Leistung und Zuverlassigkeit zu
gewahrleisten. Sorfern das Produkt korrekt benutzt und gewartet wird, wird eine langlebige
Lebensdauer garantiert.

Das Produkt ist flr 1 Jahr, ab dem Kaufdatum, gewahrleistet. Beim Auftreten eines
Schadens, durch schlechten Werkstoffe oder Verarbeitung, sollte das fehlerhafte Produkt
an den ursprunglichen Verkaufer zurlickgegeben werden. Eine Ruckerstéttung oder einen
Umtausch erfolgt nach Vorschriften des Unternehmens.

Duronic Produkte haben 1 Jahr Gewéhrleistung unter folgenden Bedingungen :

1. Das Produkt sollte mit dem urspriinglichen Kaufnachweis zuriickgegeben werden.
2. Das Produkt sollte unter den Anweisungen und Anleitungen installiert und benutzt worden
sein.

3. Die Produkte sind nur fir den Hausgebrauch geeignet.

4. Natrliche Abnutzung oder Schaden, béswillige Beschadigung, Missbrauch,
unsachgemaBe Reparaturen von VerschleiBteile sind von der Gewahrleistung
ausgeschlossen.

5. Shine-Mart Ltd hat keine Verantwortung fiir indirekte Verluste oder Folgeschaden.
6. Shine-Mart Ltd ist nicht fir Wartungsarbeiten zusténdig. Diese fallen nicht unter die
Gewdébhrleistung.

7. Gltig in der EU

E Von Shine-Mart Ltd, RM3 8SB importiert C E
| |

Folgen Sie Uns

®

duronic.com

20



DUR@NIC

21



DUR@NIC

22



DUR@NIC

Manual De Instrucciones En Espaiol

23




DUR@NIC

Instrucciones de Instalacion

Inclinacién:-15° +9° Rota: 360° Giratoria: 180°
Accesorios

a. Tornillo de Madera x4 b. Tacos para concreto x4  c¢. M4 X12 tornillos x4

4 — i— ﬁ ]

d. M5 x15 tornillos x4 e. M6 X15 tornillos x4 f. M8 X15 tornillos x4
g. M6 Arandelas x8 h. M6 Tuerca x8

1. Si los agujeros estén espaciados de
400x400mm aparte, utilice el adaptador
de placas.

2. Utilice la placa como una plantilla para
y taladrar cuatro agujeros de diametro M10

“/f’“i;/ﬁ L y de 50mm de profundidad en la pared de
g hormigdn o en la madera. Luego inserte

Py i cuatro tacos para concreto en los

T agujeros.

24



DUR@NIC

Madera

3. Coloque el panel en la pared, y luego
atornille cuatro tornillos de madera
dentro de los tacos para concreto.

4. Instale la placa de fijacion parala TV.
Enrosque cuatro pernos en los
agujeros de la parte traserade la TV y
los pernos deben seleccionarse a la
dimension del agujero del tornillo.

Nota:

1. Elegir el lugar adecuado para instalar la placa de pared. El soporte debe
instalarse en una pared de concreto solida. Asegurese que la pared pueda
soportar un peso de 300 kg en adelante.

2. Los usuarios deben comprobar y mantener el producto con frecuencia
conforme al estado de uso para asegurarse que funcione normalmente, con
seguridad. Por favor limpie las piezas con un pafio seco con frecuencia. No lo
utilice en lluvia o en un ambiente humedo.

Por favor compruebe una vez cada dos meses si todos los pernos estan
asegurados.

25



DUR@NIC
Garantia

NOTA: ESTAS DECLARACIONES NO AFECTAN SUS DERECHOS LEGALES COMO
CONSUMIDOR

Este producto ha sido fabricado bajo las més estrictas control de calidad y utilizando
materiales de

alta calidad para asegurar confiabilidad y excelente funcionamiento. Le daré buen servicio y
una larga duracién, siempre y cuando se utilice correctamente y sea bien mantenido.

El producto esté garantizado por 1 afio desde la fecha de compra original. Si surge
cualquier defecto debido a un error/defecto de fabrica o mano de obra, entonces el producto
debe ser devuelto al lugar original de compra. Reembolso o reemplazo es a discrecion de la
compafia.

Productos Duronic se ofrecen con una garantia de 1 afio bajo las siguientes condiciones:

1. El producto debe ser devuelto al vendedor con comprobante de compra original.

2. El producto debe instalarse y usarlo segun las instrucciones contenidas en este manual.
3. Este aparato es Unicamente de uso doméstico.

4. No cubre desgaste, dafios maliciosos, uso indebido, negligencia, reparaciones inexpertas
o partes consumibles.

5. Shine-Mart Ltd no sera responsable por cualquier dafo consecuente, accidentes o
pérdidas.

6. Shine-Mart Ltd no es responsable ah llevar a cabo cualquier tipo de servicio, bajo la
garantia.

7. Valido solamente dentro de la (EU).

E Importado por Shine-Mart Ltd, RM3 8SB c E
|

Siguenos

®

duronic.com

26



DUR@NIC

27



DUR@NIC

28



DUR@NIC

Manuale D’istruzioni In Italiano

29




DUR@NIC

Istruzioni per l'installazione

Inclinazione: -15° +9° Rotazione: 360° Angolazione: 180°

Accessori per il montaggio

a. Vite da legno x 4

N J
o z

d. M5x 15 Vitix 4

©

g. M6 Rondella x 8

N\
N

e===10 [ —

b. Tasselli in plastica x 4 c.M4 X 12 Vitix 4

= 1—

e. M6 X 15 Viti x 4 f. M8 x 15 Viti x 4

&

h. M6 Bulloni x 8

1. Se le misure vesa sono 400x400mm
utilizzare le placche aggiuntive per
estendere il supporto.

2. Utilizzare la placca come guida per
praticare 4 fori da M10 come diametro e
50mm di profondita nel muro. Quindi
inserire i 4 tasselli in plastica nei fori.

30



DUR@NIC

Pannello in legno

3. Mettere la placca sul muro e quindi
inserire 4 viti da legno nei tasselli in
plastica

4. Montare la TV sulla placca secondo le
misure VESA. Avvitare 4 viti sul retro
della TV scegliendo la misura
adeguata in base ai fori presenti.

NB:

1. Scegliere una posizione adeguata per installare la staffa. La staffa va installata
su di un muro in cemento. Assicurarsi che il muro possa reggere piu di 300Kg.

2. L'utente deve controllare ed assicurarsi in modo regolare che il prodotto operi
in modo normale e sicuro. Si prega di operare una regolare pulizia sui
componenti utilizzando un panno asciutto. Non utilizzare sotto la pioggia o in
ambienti con presenza di umidita.

Si prega di controllare regolarmente che tutte le viti siano strette in modo sicuro.

31



DUR@NIC
Garanzia

Questo prodotto & garantito per una durata determinata con il distributore a partire dalla data
di acquisto contro ogni difetto derivante da difetti di fabbricazione o dei materiali. Questa
garanzia non copre difetti o danni derivanti da installazione impropria, uso improprio o usura
anomala del prodotto.

Lapparecchio deve essere restituito nella sua confezione originale e accompagnato dalla
ricevuta e deve essere stato utilizzato in modo corretto. E importante rispettare le istruzioni
per I'uso e le precauzioni di sicurezza indicate di seguito. Inoltre, non possiamo garantire
I'apparecchio se é stato modificato o riparato dall’acquirente o da terzi.

1 anno di garanzia da Shine-Mart Ltd, proprietari del marchio commerciale Duronic.

NOTA: QUESTE DICHIARAZIONI NON INFLUISCONO SUI DIRITTI LEGALI DEL
CONSUMATORE

Questo prodotto & stato realizzato con le rigorose procedure del controllo qualita, e
utilizzando materiali di altissima qualita, per garantire affidabilita e prestazioni eccellenti.
Vi regalera un servizio ottimo e a lungo termine, purché venga opportunamente usata e
mantenuta. Il prodotto & garantito per 1 anno dalla data di acquisto. Se sorge qualche
difetto a causa di materiali difettosi o scarsa manodopera, il prodotto difettoso dovra essere
restituito al luogo originale di acquisto. Il rimborso o la sostituzione sono a discrezione
dell’azienda. | prodotti Duronic offrono 1 anno di garanzia alle seguenti condizioni:

1. Il prodotto deve essere restituito al rivenditore con la prova d’acquisto originale

2. Il prodotto deve essere installato e usato seguendo le istruzioni contenute nel manuale.
3. Il prodotto va utilizzato solo per scopi domestici. Non & da utilizzarsi per uso commerciale.
4. La garanzia non copre usura, danni volontari, abuso, negligenza, riparazioni

inesperte o consumo dei materiali.

5. Shine-Mart Ltd non & responsabile per Danni accidentali o consequenziali.

6. Shine-Mart Ltd non & tenuta a eseguire qualsiasi tipo di riparazione, ai sensi

della garanzia.

7. Termini validi in tutta I'unione europea *Ci riserviamo il diritto di modificare le sopracitate
condizioni Per parti di ricambio si prega di consultare il sito www.duronic.com

Corretto smaltimento del prodotto.

ﬁ importata da Shine-Mart Ltd, RM3 8SB C €
[ |

Seguici

®

duronic.com

32



DUR@NIC

33



DUR@NIC

34



DUR@NIC

35



DUR@NIC





